1 Speed O T4, How far an object meves between two 11. Slow speed % . An chiect that travels a long distance
positions. ] - quickly.
2 ,?;ZE:E;EZ \E\When an object covers equal amounts of 2. Fastspeed 1y \B\ Cantravel a long distance, but requires a
: time each second. : lot of time.
{3. Photogate \G U be -
3. Elapsed Timd) k The rate of how {ast an object ravelsa | " q ses a beam of light to start and stop a
particular distance. 14, Directly Dlo mer.
4 A E : ] et Propartional . One quantity increases as another
bt_ How many seconds it takes for an event to quantily increases.
5. Constant ocetr 3. Indirectly
: B % _ _ - - malrectty E k\ One quantity decreases as another
Speed .. Deita: means “change of”, | Proportiona (uantity increases.
Wil Speed Increase or Decrease? Mark these as Speed. Distance, Time, or Other
12 Distance is constant and time increases. S 5 mm/sec E 20 meterssec > 15 fi/min
O Time s constait and distance decreases. D 16 inches D 2238 meters t 78 sec
L Timeis constant znd distance increases. O s 0 mfs” t 8 minutes © 6 Newtons
L- Distance is constant and thve decreases.
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Troe or false {and why): A Tast car goes farther™ _fz4pe start HHHTT |'|'!'i‘['| U ENERRUE RN RN
_— - 10m 15m 20m 250
2 yust Yhere 13 }ng %‘w&
Can 2 slow object travel as.far as a fast object? \i o5 1. lsthe above motion at constant speed?
Explain. ] 2. Why or why not?, { \
Sl el sk Al |
)T,:,&d Efa@fﬂ_ ' 3. Eachdot= 1 sec. How long did it take o go 13 m?

- . . 4. Calculate the obiect’s speed, ,D b VI
Why do we have to use change of distance (AD) instead of just

distance (Dy? g‘ é ! S"W"? 'ﬁi: {05
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5. How would the dots change il it were moving faster?
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.A bike moves 30 min10 sezonds. A car travels 200 miles in 4 hours.
Calculate the speed of the bike. Calculate the car’s speed.
Step 1: Variables: Step-3: Plig in numbers and solve: Step 1: Variables: Step 3: Plug in numbers and solve:
8= |ﬂ1 S= P ¢
AD = 56‘)0::& § > AD = 2o . ffﬁ
AT = [/ 854 { ;m AT = Yhe S‘, e{,{ﬁ,ﬂ/
Step . Formula: Step 4: Give answer with units: Step 2: Formula: Step 4: Give answer with units:
\ Y4 { ;
A $= vvx/., o4 ey
S 5 0- %4 C= 50
A car travels 60 nvs for 10 secs. O holiday, a family travels from Meyervilte (10 miles. away)
Calculate how far it traveled. : to Sprytown {70 miles away), in 3 hours. Find their speed.
Step I Q18 Step 3 gRafvarys Stepl:__fhvwen [Seps_ druesin s
<~ é@m iy g .
- : 4 (O v |
o . A - g . t- d ~ T} .
f,' [o5% 'é S‘ - /
. e: . ?? & wJ
Step2: Efwrt  |Sepd: Lemie . Step 2: LIt Step 4:
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